-3 Motreboo K Questions.

L
LA.=Lpd

5S4, = LA +B
f= Pcr.'maer of Bage.

g - Slant hest +
B = Area of the Base

The Stnt hegut s given as din, +he Perimeser of He

I cu(“ ‘Pl‘l‘.SvF 'p:‘né -Htc afeq of -Ll\e B‘tSe 03)
azapothem =2 Given as 3J3 4

R = -:'IaP
P‘-'—BGL\
6:@5\'/2@9 ! _/:_.’A.: %(36}(61)
=40 /3) = 0
$%/3n
S.A= }_A-'l- R
T = 16y 4 8Y/3
USe Calcy lator
AL >

Scanned with CamScanner



F;ﬁf-) FI‘"A &
Q> (200

= 144ypm*
Nev+, Fiad L,
62+GZ=£2
c p 36436 :,61

So Eié:zgng

= ) (489) (2
L LR P

A~ 204 mA

Mw, SSA=LA+R

T )

= 204 + 4y

Y;’3qgm13

Scanned with CamScanner



25

Scanned with CamScanner



/Vouﬁ we need 4o £ind L.

)3 2
| 3 444

&

‘ -_:,e Sq_a..a-rc @oo'l'
L (‘ q+18 1 ./ Bo+h Sides
25-4 U—)
! LY 4

Scanned with CamScanner



